

Nombre : _____ Fecha: _____

Grupo: _____

Resuelve utilizando los pasos de la formula general cuadrática

$$-4x^2 - 6x - 2$$

$$a = \square \quad b = \square \quad c = \square$$

$$X_{1,2} = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$X_{1,2} = \frac{-(\) \pm \sqrt{(\)^2 - 4 \cdot \square \cdot \square}}{2 \cdot \square}$$

$$X_{1,2} = \frac{\square \pm \sqrt{\square + \square}}{\square}$$

$$X_{1,2} = \frac{\square \pm \sqrt{\square}}{\square}$$

$$X_{1,2} = \frac{\square \pm \square}{\square}$$

$$X_1 = \frac{\square + \square}{\square} = \frac{\square}{\square} = \square$$

$$X_2 = \frac{\square - \square}{\square} = \frac{\square}{\square} = \square$$